
���� ��	
 � �
��
�

��� �� ����	 
�� ���
 �	��� �� �
�� �� ��� ���� ������� ���� !� �� ���� �#�$% &��'
(� ������� )*+ ,��� ��� &��'
-� ������� �. ���. �
�/0 ��1�� �� ���. �
�/0 2�$ 3�� 2�4 ���'
5� ������� �. ���. �
�/0 2�$ 3�� �� ���. �
�/0 ��1�� 2�4 ���'

 6�

���7 $8 �. �9��: .$� �� ���� ���
 �)��7 ��;< �;<=
�� ;9>	 �� ��� �
��� &�? ��&� �!�7 2���,�$	 �� �� �� @� �	���� )*+ �	���'
(� ��� )�!	 )*+ ����? A�0 ��&�B 
C� ����? DE 	 G��,� ���'
-� � H�� �
�/0 ���C	 $8 )�� ���I	 �� ��� � J# E< ;9K G��)	 )�� ����'
5� ;9K LH0 � �L	 �!�7 �
�/0 ���
 &�? �� ��. �	����'

 6(

$8 )�� �L�M: 
��0 ���
 �	��� �� �
�/0 ���H$!� @� ����J �� J�N ��O  �;<' ��� ���0 �$3 )�� ��P�:
��)� �L�$3 ������� &��B ���H$!� �
�/0 ���C	 @� ����J �� ���7 J�N ��O �;<= 

��  (�  -�  5�  

 6-

�
�/0 ������ �� $8 ���� ����$	 �� J�N ��O $8 � ���� �� P�: /�N Q��� �;<= RD�$: ���< 2S
8

�

�� (� -� 5� 

 65

��� ���0 �9LT $8 ���
 ����? - ����� &�� J�N ��O ����J �� ���H$!� �
�/0 ���
 @� Q�� ����� �	 &��=

�� (� -� -5� U

 6V

�
�/0 ���� ,�0 2���,�0 W �. �
�/0 ���� ,�0 ���� 8 �. 2���,�0 .$� �E!�1 �!�� �;<= 
�� ��10 ��
 (� .$� A��H -� ���� 5� 
�� ��X	 
 6Y

�
�/0 ���
	 �� J�N ��O ZZYY @
I���7 Q�� /�N �;<= R;�[< 
�� �� GS  �������
 � � D�$: 2S
8

 /�N ��
 � �;<'� 

�� (� -� 5�  

 6\

�]L � �����$�	 �� ���� GS^ �� Q� �; L��0 �
_�7 �	&��=
�� �9 ��; L� $�
M� (� �9 ��; L� �
���N ������
M�
-� ��; L� $�
M�0 ��	 � ������
M�5� ��; L� $�
M�0 �#̀< � ��	 � ������
M�

 6a

�� J b ����O �������c��J d �. 
�P � �����^ ��
 ����$e �� �9�f .$� A��H �	��$� ���? ����O � �
�/0 ������
�� ���� @
M� �� ��� : Q� �c  �0 2 �� �	���= 
�� .$�� �	&�� B .$�� �	&�� (� .$�� �	&�� B �� �	&�� 
-� �� �	&�� B .$�� �	&�� 5� �� �	&�� B �� �	&�� 

 6U

���� 8 �. 
!����,� �����?� ���0 $8 )�� � J�N ��O �� ���H$!� &�g ��;< �;<=

�� (� -�  5� 

 6�Z

�� ��� , ���/�B ������� �. ���.  �� ���.  �	���' &E�h ���� ������� 
�#< �� P��< A#% Q�� �����
�	&�� � �
�/0 ������� Q� �c  �0 �	���=
�� ( � �!��(� ( � � C��-� 5 � � C��5� 5 � �!��

 6��

�� $8 1�i ��&��$	 ���
 ���H$!� ����J �� J�N ��O  � ���� �;<' ��� ���
 ���H$!� $8 �J�0 ��j ��
���0 \(� ��)� ;L� �k ����J �� J�N ��O 5 � ���� ��&�B ���0 1�i Q�� ��)� �L�$3 �;<= 
�� ZZY� (� ZZ5( -� ZZ(- 5� ZZZ5

 6�(

��� J�N ��O ����  �� $8 �> 9 
lb J�N ��O ����  �� ,!�� �> 9 ��&� B 
�#< �
�/0 @
M�  ���7

�;<=

�� (� -� (5� 5

 6�-

J b 1�i 
m�� ��&3 QI�
� �;<=
�� )*�	 G9	(� 
C�0 2 �;��-� )*�	 2 �;��5� 
C�0 G9	
 6�5

� C��$3 ���
M�0 ���C	 ��;9 )�!	 �� ���0 ZZ5 ��)� ;�
�	���� ����J �� J�N ��O  �;<' ���0 )�� �� ��

Q�� ��)� ;�
�	���� ��;�
 � �� � C��$3 ���
 ����J �� J�N ��O  &��=

�� -\Y(� ZZa-� -\Z�5� Y5-�

 6�V

�� GS^ ���� �����0 ��
 
�#< �� ����� A��H ����0 ''''''''''''''''''''
�� �
�/0 � C�� � J�N ��O �L���� �;<(� ;�[< � C�� � J�N ��O �L���� �;<
-� ;�[< �!�� � J�N ��O �L�����;<5� J�N ��O ����?�� � ;�[< ����0 �;<

 6�Y



J�N ��O $8 ���� 
�� VnZ � ���� �;<' �� ���� �� ���< 2S
8 �����  ��&�B �
�/0 �$3 ����
Q�� /�N �;<=

�� (� -� 5� 

 6�\

���0 )�� ; �,	 -\( ��)� ;�
�	���� �;<' ���0 @� �� �� P�: ��)� ;�
�	���� ;� ����� �	�� �' J�N ��)	
�� �
�/0 ���C	 ����J �� @� ���H$!� �;< Q�� ����� �	&��=

�� (� -� 5� -

 6�a

���0 )�� )���0 �� �� P�: ��)� ;L� �k ;� ����� �	�� � � J�N ��O ����J �� ���
 ���H$!� �
�/0 
lb
�	&�� ���0 ��� � )�� Q�� ��)� ;L� �k ���? �;<=
�� ��(� -\(-� Y5V5� U�a

 6�U

�� ��� , ���/� �A�	 ������� �. ���.  �� ���.  �	 ��� ;�[< @� Q�� ����� �	&��=

�� (� -� 5� (

 6(Z


�� ���
I	 �� J�N ��O @� �� GS^  ��� �;< �. �> 9	 [#�� �	���' �$3 �> 9 ���0 )*+ - /�N
�
�/0 Q�� ���� �� ��$� )*+ ���= R ���< 2S
8  /�N6 ��
 � � ;�[< 
�� �� GS^   ��� ��
��
 � �;<'�

�� (� -� 5� 

 6(�

J�N ��O 2��� �������c��J d o B 5 ����� J�N ��O 2��� p �;<' �� �$3 ���g �
�/0 2��� o Q�� ����� �
�/0
p �;<=

�� 5(� �-� 5� 

 6((

��� �� $8 ���q ���S� ���$8 ���0 $8 A9E� JS �� �� ���$e ��1 �#�$� �� &��h �� ���
 ��� ����� �� Q� �
r �$�?
�	&��=
�� .��(� 
��
_	-� ; �5� ;�s

 6(-

��� ���< 2S
8  ��&� B 
����
	 �� J�N ��O --nZ � ���� Q�� /�N �
�/0 ����=

�� (� -� 5� 

 6(5

���� ���7 $8 �. 2���,�0 .$� 2� �
�/0�� �;<=
�� �$�d(� ����-� ����$	5� �����^ ��

 6(V

2���,�0 
�� G��& � �E� �. [#�� �. $8 & C�� A��HB Q� J 	 �C� % �	�,�=
�� )*�	 G9	(� )*�	 2 �;��-� 
C�0 2 �;��5� 
C�0 G9	
 6(Y

LH�g �� P�N ���M�+ QI�
� J 	 �C� % �	�,��=
�� 
C�0 ��l��	(� 
C�0 G9	-� )*�	 ��l��	5� )*�	 G9	
 6(\

���
��7 �
�/0 2���0 �� J�N ��O  @
I����7 Q�� /�N �;<= R���< 2S
8 �

�� (� -� 5� 

 6(a

�� ����O �������c��J dB �. ����
 �� ��)M�0 ���$�$	B J�N ��O � �
�/0 ������ �� ���
M� �� ��� : QI�
� �c  �
�	����=
�� �H�$
 6 �H�$
(� �H�$
 6 ��,
-� ��,
 6 �H�$
5� ��,
 6 ��,


 6(U

�� 2�$�? ��������$8 ����� ����/ ���Ab ����? �� Q� [���L	 ���I	 ����=
�� �H��	 ;9K ������� LH0 � &�g 2��� ���0
(� ����� 
�� ���0 � �
�/0 R&�g� 2��� ���0
-� ����� 
�� ���0 � )�d ������� LH0 �� 
�� �� @� �	����
5� )�d ������� LH0 �� 
�� �� @� �	���� � �
�/0 R&�g� 2��� ���0

 6-Z

�� ��� X ���/� �L����$3 J�N ��O ����J �� �&��0 ''''''''' �. ����,��$3 J�N ��O ����J �� �&��0''''''''' ����,��
�;<'
�� ����< 6 2�X 3(� 2�&3 6 ���!�-� ����< 6 � !��5� � !�� 6 ���!�

 6-�

�q �;�;	 2��� � H� ��2���,�0 �$I� �� �$3 �;< �� ����,�0 2��� � H� '''''''''''''' '
�� ,!�. � ,� �����
�(� ����0 J�N ��O �L����
�
-� ����0 J�N ��O ����,��
�5� A��g 
�t � ;�[< � C��0 ���
�

 6-(

�G�Sf J�N ��O 2���,�0 o � p ����� 5 
�
���� �;< ��� �
�/0 ���� 2��� pB - ����� �
�/0 ���� 2��� o ��&�
J�N ��O 2���,�0 o � p �� P�: 
�
���� �� ��� : �. ��;< �� Qi ���7�
�=
�� � � V(� Y � (-� V � �5� ( � Y

 6--

�� $8 ���0 �E 3 � �� ���$�� �� �)��7 �$I� )�� ; �? ''''''''''' �� L��? � '''''''''''''' )*+ ����?0 ��O,�0
�������c��J �	 �;<'
�� �M��$36 ����$3(� ����$36 �M��$3-� ����$36 ����$35� �M��$36 �M��$3

 6-5

��� �� ��� , ���/� �
�/0 ������� �� ���� ��N ����� �� Yn-�6 ������� ��< ��&�B �
�/0 ������� �� ���� ��7
 ����� �� Q�� ������� ��< G��,� &�=

�� 5n-6(� anY6-� (n\(5� 

 6-V



Z �

���0 $8 LH �E 3B 
!���� ����/ ���Ab����? �� P�: ����� 
�� ���0

�;� &�? �;<' �� �.�0 Q� �����0 R�� P�: � B ����/ ��Ab (

��< �	&��= 
�� V\nZ(� V(n�
-� ZVn�5� ZVn(

 6-Y

�� ��7 ���� ���$_	 ��. , ���/� �. ���,�0 2�$ 3 �� ���,�0 ��1B ����� G9�J �&��0 ''''''''''''' � �� 
M�$<
�&��0 ''''''''' u�,� �	&��'
�� 2�
�6 ���!�(� � !��6 2�
�-� 2��!�6 2�
�5� 2�
�6 � !��

 6-\

�
�

�

�


!����  �� 2�$�?0 ��������$8 ���0 $8 LH �E 3 � ���0 �� 2��� ���
 o � p �;� &�? �;<'�� �$3
���g &�g 2���o '''''''''' &�g 2��� p � �����2��� o '''''''''' ����� 2��� p �;<'
�� � C�� �. 6 �!�� �.(� ����� �� 6 �!�� �.
-� � C�� �. 6 � C�� �.5� ����� �� 6 � C�� �.

 6-a

,� ��? �� $�� �8 ������
	 �� �� ���� ��
�0 &!��?0 (B ����0 ( ������� ��< �
�/0 �;<B ���
	 �� J�N ��O
ZZa 
�
���� �����
 � Q� ���A	 �s �	�,�=
�� , v ���q G��	 �s 
]��,� ���'(� ������� �� P��< ���
I ]��  �	���'
-� ������� �� P��< ���
I ]��  �	���'5� ������� �� �� % ����$	 �� P��< 2�$� �	���'

 6-U

���7 J b ��!	 �� &��;�$	 [���� �. $��$I� �� ��� �	���=
�� �9 �� L	 G9	(� �9 �� L	 2 �;��
-� )*�	 2 �;�� $� �� L	 2 �;��5� )*�	 G9	 $� �� L	 G9	

 65Z

��� �� 2�$�?0 ��������$8B ����� 
�� ���0 �� ����� &��B ����/ A9w x ����� �	&��' ���7 ���9� x �� ��;<
�E�	 �	���=
�� (� -� 5� 

 65�

�� $8 @.��$
 ��� �����$8 J�N ��O A9w  �;<' ��� 
��0 �� J�N ��O  �� ��� ���B � C ��0
�
�/0 )�C	 �������,� ,�I�7 )�� &�� �. LH Q�� ������� ��< G��,� &�= 

�� �(� --� 55� Y

 65(

�. ;9K )�� ���0 �� D�$: )*+  B �� ,� ��
 �  /�N �
�/0 ���C	 ��.��+ �	&��' @,�r )*+ ���

����$	 ��;9 )�� Q�� ��g �;<= R�y �� � , v �
�/0�0 �. )�� ��� [#�� 
!	���'�
�� ZZ5((� -� ZZZ55� 

 65-

���w ��� LH0  �;<' ��� �� 2�$�?0 �������$8 �� @� LH 
��0 �� J�N ��O Z\( 
�
���� �����
 �B � C ��0

�
�/0 )�#C	 ����������,� Q�� ���������< �	&��= 

�� 5n�(� Yn(-� 5n-5� Yn5

 655

��� �� ��� , ���/�B ������� �. ����  ����B �
�/0 @� Q�� ����� �	&��=

�� (� -� 5� 

 65V

�� ��� , ���/� ������� �� ���.  A��� ����' �� �� 
z� ���3 �!�7 �*��,�0 �!�3B Q�� 
�h ���� ��
�
�/0,�0 ����g �!�3 �;< �� % &��=
�� -(�5-� Y5� a

 65Y

J�N ��O A9w ���0 ��� ���������$8 �� $8 LH �E 3 �����  �;<' �A�	 
�� �� J�N ��O  ��

;9K �$3 LH �����B ����/ ���Ab ����? Q�� ��< �;<= 

���(� (-� V5�Z�

 65\

���w ��� LH0  �;<' �L����$3 J�N ��)	 �� ;#: �� % ���������� �. �$3 LH �	&��B Q�� � ���� �;<=

�� -nZ(� --� YnZ5� Y

 65a

�� ��� , ���/�B ������� �. ���.  �� ���.  �	@$�' ���� �� L	 ����J �� ���7 �&�� � ���7 ��9�� �.
J b ��O,�0 �������c��J �	 �;<=
�� ���!� 6 ����
(� � !�� 6 ��X	-� � !�� 6 ����
5� ���!� 6 ��;�s

 65U

���w ��� ;� LH o B p � { �� ��� : Y(n( B 5(n5 � \-n5 ���������< �;<' ���7 $8 �. �$3 LH,� �A�	 �� 
��0
�� J�N ��O  ��&3 &�� ���������� �� % G��,� ���=

�� o(� p-� ,� ;� LH5� , v $8 �. ;� LH

 6VZ

)�� ���0 �� �E�y �
�/0 ���C	  A��� ����' ��� �� ,� �A ��  �
�/0 �. ;9K )�� ��.��+ &��B

D�$: )*+ @� Q� A�� �;<=
�� V(nZ(� ZVnZ-� ZYnZ5� V\nZ

 6V�

�&E�0 ���� �� ���$�� �� ����O ����
 ����0 J�N ��O ''''''''''' � ���
��7 �
�/0 ''''''''' �;<'
�� ����?�� 6 ����(� �L���� 6 ����-� �L���� 6 � 
��5� ����?�� 6 � 
��
 6V(



��� �� ��� , ���/�B ������� �. ���.  �� ���.  ����' �
�/0 2��
� % �����$�	 @� Q�� ����� �	&��=

�� (� -� 5� 

 6V-

�� 2�$�?0 ��������$8B �� ���7 P��< � C��0 �
�/0 )�#C	 ��� �������,� �H�$
 �	$���=
�� &�g 
�� ���0 �H�$
 $���'(� J�N ��O 
�� ���0 ��,
 $���'
-� &�g 
�� ���0 ��,
 $���'5� J�N ��O 
�� ���0 �H�$
 $���'

 6V5

���7$8 �. ����� .$�B �� % ����$	 �� 
C�� �	�,�= R| 
C�
�0 ��� ���
I ]�� �;<'�
�� ���� } ���  (���� } |���(� ���� } ���  |���
-� |���  ���� } ���5� (���� } ���  ���� } |���

 6VV

�� ��� ��$L � ;� ��� $�
 �?  ����$3 ����� ����J �� �&��0 ���!� Q�� ,��H �;<=

�� (� -� 5� 

 6VY

���w ��� LH0~� 5 �;<' ��� � C ��0 �
�/0 )�#C	 ����������,�0 �� % &�? ~� a ��&�B ����� 2��� ���0 ��
�$3 LH Q�� ����� ����� A9w �;<=
�� ((� --� 55� (�

 6V\

�� ��� , ���/� ,!�0 ���
,�0 �&��,�0 '''''''''' �� 
�P �0 ��;�s A��� ���
�'
�� � !�� � ��&3(� � !�� � ���!�-� ���!�B ����< � ��
�5� ��&3 � ��
�
 6Va

�� @.��$
 ��������$8B 
�� �8�
I	 �� �����  ,��H �� ������� LH0 �	����' ��� J�N ��O A9w

 � ���< 2S
8  ��&�B ����/ ���Ab����? Q�� ��< �;<=
�� YnZ(� 5n(-� -5� Y

 6VU

�� ��� ,L � $8 ���#� $�
 �? ������� �. P���	 �� �
�/0 ���I	  �� P���	 �� �
�/0 ���I	  �	���'
���� �� % &�? �� ���7 ;�0 � ���7 
�P � �. J b ����O �������c��J �	 A��� ����=

�� ;�0 � !�� 6 ��X	(� ;�0 � !�� 6 ����

-� ;�0 ���!� 6 ��X	5� ;�0 ���!� 6 ����


 6YZ

�� @.��$
 ��������$8B �A�	 
�� �8�
I	 �� J�N ��O  �� LH �	����
 �B 2�$�?0 ��������$8 �s 
!	�,�'
���0 @��� �$3 2�$�? �s �,�B ���7 [!% �!�3 �;< ����� ��&�=
�� &�g 
�� �� �H�$
 �, �'(� �. LH0 �� ���w ��� ���� �;���? �� �'
-� .��� ���
 
�� �� �H�$
 �, �'5� �. 
�� �8 �
r �� J�N ��O �H���� �.  �;���? �� �'

 6Y�

&�% ������B �E���0 �. ���.,�0 �
�/0 ��� , ���/� �� 
C�� �	�,�' ���7 �*�� �	���
� �� �� % ���
	 �� J�N

��O  ��_� &��= 

�� 
(� 
-� 
5� 

 6Y(



���� ��	
 ���
 � ������

���� ��� 	�
 �� ���
 ���� ���� ���
 ������ � ���	��
 �� ������ �� 	������ 	� ��	�  �� 	��!  ��"��

#$%�� & �'���� �� �	�(� ) �� ��	�  �� 	��!  �*�� #& �*��) �� ���+ $, ���� ���� �� ���- ./

�'$�� 0 �1�2 	34-

 56

��'	� 	��!  ���� 7�8 ��3�9� $, :;
+ �� ��� � <=�%4 3(2 >��:� ?� �;��� �	��- �����	$@ �'$�� 0 �1�2
	34-
 5A

����� B���� �$9C9
 �$@+ ���	��
 D��9E�F <�G ��H ���'$*
 	��!  ���"�  �� ���  �(9I �J�	� K����
	34- �� ���L�M 

 

�����	$@ �'$�� A �1�2 	34-   

 50

	�� N �;��� #����/) ���� ����$� ���� �O� ��7�+ >�	��
 �	74M

�����	$@ �'$�� P �1�2 	34-

 5P

<=I B���� �$9C
 �$@   ./M

./ �'$�� A :�	F �1�2 	34-

 5Q

	��!  ����� ��"�� 	34 �� �	�	  ����/ ��"�� � <�G ��H �*�� ��7�- <�G ��H 	7%� R ��"�� 	� <�G ��H
����C�  ���� 	34 �S	 	��!  ����C�  R �*�� 	� 	��!  ����C�  ���� 	34- ./ �'$�� 0 :�	F �1�2 	34- 
 5T

	��!  ���� 	� �	�(�  ��34 ��?$� �� U K��4 .V�, � N ����/ ���� 	34- 

# 3�W4 ��� �� >V 	34-)   

�����	$@ �'$�� A :�	F �1�2 	34- 

 5X

Y�� �� >V Z�	
 ���  �:�� ��	�� �� $���'8 7�8 � ��W[ �\9�� 	����$�� 7��� �����	$@ �\9�� 	����$�� �� >V
��3�9� 	������C� ���
 �� ���� � �'$�� A �1�2 	34-
 5]

	�� 	� .�$�� ��  ����	^ ��� �� <�̀ 	��	H 	������a��<�/ �� 3*4 .�����  �$�B��' ���$
 <�G ��H � .�$��

	'	$� ��$����- �����	$@ ����/  ���� ��$��� � Y�� 	��!  	$@ ����C� 	� �	�(�  ��34

��?$� #U K��4 .V�, 	34)- �S	 	��!  	� ����	  ��� �� 3*4 �$�B��' ���� ��$���- ./ �'$�� A :�	F
�1�2 	34- 

 5b

�'$�� P .�3c �1�2 	34- ��Y� ���  :;
 ��d�� ��� <�G ��:� �� �� ��"��$@ ������� �;�e ��7�� �� 3*4

<�G ��H��  ����8��  �����-#	$@ B���� �	 B���� :��� :�$� � $9C9
 �$@ ��$��)

 56f

�'$�� 0 .�3c �1�2 	34- 7%�g ��	� P ��	�� ��7��-
��	'	$� & + 	������ �� ��	���$� �� 	��!  ��d�� 	�  �� ?� �	 D��4��  ��	���\�� ��>�	���+ B�	� �	�� #�1�
TAA ���F �'$, .���	�"���� �7��  �$�h�) 	�=�� 	� �O� B�� �(9I �� ��	���  ��d��+ 	��!  �*�� 	34-

 566

��� �� B���� �$9C9
5 �$@ D��9E�F <�G ��H ���'$*
 	��!  ���"� �� ���  �(9I :;
 �J�	� K���� 	34 $%��

 �����	$@M 

./ �'$�� 0 :�	F �1�2 	34-

 56A

	��!  ���� �� ����/ �;=4 �;�J�
 �	�� + ./ �	�$
M

# 3�W4 ��� �� >V^ 	34-)

./ �'$�� 0 :�	F �1�2 	34-

 560

<�̀ �� ��=i ���	�� �"�  	34- 	� <�� 	�� ��� d�j �k�� �� 	3l����3��m �"���8 7��+ >(�< :�	���� 	 
�$�8 >�	�� 7� �� �"��� �"�  5 >(� ���� <�̀ d �j �k�� 	34 	34 � �'$�� P �1�2 	34-
 56P

<=I B���� �$9C9
 5 �$@ ���	��
M  

�'$�� 0 :�	F �1�2 	34-

 56Q

3�W4 	��"�� ����C� �� >V^ �� ����/ ?�C� �;��� ��	�� � �J�	� K���� 	34 ��� <�G ��H ���� ����	^ ���
�*�� 	� <�G ��H ���� ����� B��' 	34- ./ �'$�� P :�	F �1�2 	34-
 56T



	��!  $, ���� 	� �	�(�  ��34 ��?$� �� N �;��� � U K��4 .V�, 	34- 	� <�� �	�$
  �����	$@

����	� ��74M

./ �'$�� 0 �1�2 	34-

 56X

<=I B���� �$9C
 5 �$@+ D��9E�F <�G ��:� �� 	��!  ���"� ���'$*
 �	�� �� ���  �(9I :;
 �J�	� K����
	34 M  

�����	$@ �'$�� 6 :�	F �1�2 	34-

 56]

<=I B���� �$9C
 �$@ �	�$
M    �����	$@M

./ �'$�� A �1�2 	34-

 56b

3�W4 	������ �� ��	� >�� �� 7*��8 ��	� ?� �;=4 W�/ �	�� $%��M

./ �'$�� 0 �1�2 	34-

 5Af

�(��I �O�$� .V�, 	�� �� $, ��H 	������a��<�;� �� �;��� N �%�	� & ���� �:�� �	7�� ��7� 	��!  ��H ��	��
	34 ��M     # U K��4 .V�, 	34-)

�����	$@ �'$�� A �1�2 	34- 

 5A6

	��!  	��	H 	������a��<�/ 	� �	�(�  ��34 ��?$� # & �%�	� ����C�  ��H �U K��4 .V�, � N �;���
��H 	34-) �����	$@ ����	� ��74M 

# n 3�W4 ��� 	34)

�����	$@ �'$�� P �1�2 	34-

 5AA

<=I B���� �$9C
5 �$@ �� 	'	$� ��� 7�
 ���'$*
 ���� 7�8 	� :;
 �9�Co �� 3*4 <�G ��:C�  ����8 ��e
�����- �����	$@ �� 7��g ���� ��� ��p� �� ��� �*�� 	34 	���	 .�����  3�q �� �;=4 �� �����  ��p� �$�� <�G
 ��H �������  �	��� ���� �� 7�� � 	� ��r 3�q �� ��r ��� � �%� 3�� � �%� �� 3*4 ��r ?�� � ���
�����- �S	 �'$�� P �1�2 	34-

 5A0

3�W4 D��4 ������  ��� ��	��  	34- �����	$@ M

    �    

����/ ������  ��� M

�����	$@ �'$�� P �1�2 	34-

 5AP

.�	��! ��$@ ����+ ���� ���� ����7� Y�	 �� �� ��:� �� �	�(� NU s t 	��!  ���� $, ��H 	������a��<�;�

.��� ���� ��"��$@ �;��� �	 �	��- �����	$@ .�	��! ��$@ ���� ���� ���� ����7�- �����	$@ �'$�� A �1�2 	34-
 5AQ

<�̀ ��� >��7�� ./ 	� W=�� 	� ��"�� �u��
 $, <�̀ .��3�� 	34- 	�� ��� >��7�� 	� 7�"�� B��' ��S��+7�"��
B��' 	� ��� 3��+ ��r B��' �	 :SF �����- �����	$@ <�̀ D��e+ :S�� .��3�� >�	�� 7�- �S	 �'$��� A .�3c

�1�2 	34-

 5AT

�'$�� 6 .�3c �1�2 	34- :���	
 �9�Co � ��$%�
 D��e 	� Z�F ?�C� �	�	  <�̀ �"�  	�u��� #.��3��)
�;���-
 5AX

��	���v 	��!  	� �	�(�� �$� ��34 ��?$�M

./ �'$��� P .�3c �1�2 	34-

 5A]

�� <�̀ 	��	H 	������a��<�;� �*��$@ �;��� #��"��$@ <�G ��H) ����< �� 	��	H �	�$�$� � ��"��$@ �;���
#�*��$@ <�G ��H) ����< �� 	7%��  	34- �����	$@ 	� �	��� �� ��H��  �	�$�$�+ <�G ��H 	'	$� � �;���
���� ��$��� � �� ��:� �� �	�(��  �� ���� �;���+ 	��!  �	�;�� �� ������ ��' ���� ��$��� �����	$@
�'$�� A .�3c �1�2 	34-

 5Ab

�'$�� 0 .�3c �1�2 	34-  50f



�'$�� P .�3c �1�2 	34-  506

�'$�� 6 .�3c �1�2 	34-  50A

�'$�� A .�3c �1�2 	34- Y�� ��	���v 	��!  .��� w+ 3� ��	�� ��	���v 	��!  .��� x ����7� ./M  500

�'$�� P .�3c �1�2 	34-  50P

�'$�� 6 .�3c �1�2 	34-  50Q

�'$�� 0 .�3c �1�2 	34-  50T

�'$�� P .�3c �1�2 	34-  50X

�'$��  0 .�3c �1�2 	34-  50]

�'$�� 0 .�3c �1�2 	34-  50b

�'$�� P .�3c �1�2 	34-
�C�� � ���3� <�̀��  �;�9� � :S�� �	 <�̀�*�$� ������� � <�̀�*�$� 	�'	� ��	�*��  ��	  7��3�$� W�u���
	34-

 5Pf

�'$��  6 .�3c �1�2  	34-  5P6

�'$��  P .�3c �1�2 	34-  5PA

�'$��  A .�3c �1�2 	34-  5P0

�'$��  A .�3c �1�2 	34-  5PP

�'$��  0 .�3c �1�2 	34-  5PQ

�'$��  0 .�3c �1�2 	34- 	$@ D��4�� �� 7�y �$� ����7��M
65 P �� 6 #6 D��4)
A5 P �� A � A �� 6 #A D��4)
05 P �� 0 � 0 �� 6 #A D��4)
� 0 �� A � A �� 6 #A D��4)  #6 D��4 ���	� )
�L*�W�� X D��4 	34 �� $�� ���	�  ��7��-

 5PT

�'$��  A .�3c �1�2 	34-  5PX



�'$��  6 .�3c �1�2 	34- ���	��
 �� <�G ��H� B(i  �� �	Bi �9����$@ <�G ��:� 	34 �� ����	�� 3=o
�;�e ���	������ 	� 9' 7��-

 5P]

�'$��  0 .�3c �1�2 	34-  5Pb

�'$��  P .�3c �1�2 	34-

Y�� NU #	��!  ���� ��� �����8 7�8) 	� ���i� ��� �� 3� 9' �
�� ����7�+ �����	$@ B��� �� �;�e ���	������ 	�
��z $, 	� 3� 9' ��;4-

 5Qf

�'$��  6 .�3c �1�2 	34-  5Q6

�'$��  P .�3c �1�2 	34- <�G ��H 	7%�  ���� 	� <�G ��H� 	��	H �	��� �
�� 	34+ ��� 	��!  ?� ��"��
����7�-

 5QA

�'$��  0 .�3c �1�2 	34-  5Q0

�'$��  A .�3c �1�2 	34-

./ 	�� <�G ��H �
 7��+ ��"���  	��!  :�="� ���	�������� �$�� ��7��-

 5QP

�'$��  P .�3c �1�2 	34- A ���� { 	�
  ���� { |	�
  5QQ

�'$��  6 .�3c �1�2 	34- �
��$@ �;��� $%�� �9����$@ <�G ��H+ �7��  ���*� $%��  �  ��7�-  5QT

�'$��  A .�3c �1�2 	34-  5QX

�'$��  P .�3c �1�2 	34-  5Q]

�'$��  6 .�3c �1�2 	34-  5Qb



�'$��  P .�3c �1�2 	34-

Y�� &+ A � P 	34 .��� �����8 	� 3�  ���*� 	34-

<�G ��H .�����  �	��� �� D���  	34-

 5Tf

�'$��  A .�3c �1�2 	34- 7�
 ��� � ���� ���� 	K�  �� .�$�8  ���	����$, ��	���-
�� 	'	$� <�G ��H ��' 	��!  ���� ��$���+ ./ �� ���  �� <�G ��:� ��� 	�  ��7� B(%�� ���	����$, �q
�*����-

 5T6

�'$��  A .�3c �1�2 	34-

	>�V} 	��!  �� ��	�  �  ��' ��	�� ]]~6 	34-

 5TA


